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Atomic Masses: B 10.8, Na 23.0, O 16.0, A127.0, Cl 35.5

1. (5 Pts) What is the empirical formula for the substance with this analysis: Na 54.0%, B 8.50 %, and O 37.5%.
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2. (5 Pts) How many meles of aluminum chloride can one obtain from 6.00 moles of barium chloride?

Al (SO04)3 + 3BaCl, — 3BaSO4 + 2AICI;
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3. (6 Pts) How many grams of aluminum chloride can one obtain from 9.00 moles of barium chloride?

Aly(SO4)3 + 3BaCly — 3BaSO,4 + 2AICI;
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4. (9 Pts) In the reaction below, 8.3 moles of calcium hydroxide were reacted with 5.8 moles of phosphoric acid. How many
moles of water will be formed?

3Ca(OH)y(s) + 2H3POy4(ag) > Caz(PO4)yis) + 6H O
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Atomic Masses: B 10.8, Na 23.0, 0 16.0, A127.0, Cl 35.5
1. (5 Pts) A compound is found to consist of 34.9% sodium, 16.4% boron and 48.6% oxygen. Determine its simplest (empirical)

formula. (Laime OO
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2. (5 Pts) How many moles of aluminum chloride can one obtain from 12.00 moles of barium chloride?

Al(SOy4)3 + 3BaCl; — 3BaSO4 + 2AICI,
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3. (6 Pts) How many grams of aluminum chloride can one obtain from 6.00 moles of barium chloride?

AL(SO4)3 + 3BaCly — 3BaSO, + 2AICk
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4. (9 Pts) In the reaction below, 5.3 moles of calcium hydroxide were reacted with 4.8 moles of phosphoric acid. How many

moles of water will be formed?
3Ca(OH),(s) + 2H3PO4(ag) — Ca3(PO4)a(s) + 6H00)

5 3 pne) 48l 2 pne

Bazﬁg\ 5, 2w & lORL | 6 ol fao
- (3 el Catew),

Bosed o0 4/, g mal H3?09/ 6 mel o /5’ Y ol 17%e)
H}%({ /&/ﬁ““lﬁapd(y




